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MULTIPLE CHOICE QUESTIONS - ADVANCED JAVA PROGRAMMING 

UNIT – I
1. What are the major components of the JDBC

a. DriverManager, Driver, Connection, Statement, and ResultSet

b. DriverManager, Driver, Connection, and Statement
c. DriverManager, Statement, and ResultSet
d. DriverManager, Connection, Statement, and ResultSet

Answer : a
2. Which of these obtains a Connection?
a. Connection.getConnection(url)

b. Driver.getConnection(url)
c. DriverManager.getConnection(url)

d. new Connection(url)

Answer :c

3. Select the packages in which JDBC classes are defined?
a. jdbc and javax.jdbc



b. rdb and javax.rdb
d. jdbc and java.jdbc.sql



d. sql and javax.sql
Answer :d

4. The ……………… object provides you with methods to access data from the table.
a. ResultSet




b. Parametrized
c. TableStatement



d. Condition
Answer :a

5.  Which type of driver converts JDBC calls into the network protocol used by the database management system directly?
a. Type 1 driver




b. Type 2 driver
c.
Type 3 driver




d. Type 4 driver
Answer :d

6. JDBC API supports ________ and _______ architecture model for accessing the database.
a. Two-tier




b. Three-tier
c. 
Both a and b




d. Only b

Answer :c
7. Which of the following is not a valid statement in JDBC?
a. Statement




b. PreparedStatement
c.   QueryStatement



d. CallableStatement

Answer :c

8. The method on the result set that tests whether or not there remains at least one unfetched tuple in the result set, is said to be
a. Fetch method




b.  Current method
c.   Next method




d.  Access method

Answer : c

9.  Which of the following is not an interface?
a. ResultSet




b.  DriverManager
c.   Statement




d.  Connection

Answer : b

10. Stored procedure can be called by using the ?
a. CallableStatement



b.  Statement
c.   CalledStatement




d.  PreparedStatement

Answer :b

11. Which of the following driver is the fastest one?
a. JDBC-ODBC Bridge Driver


b. Native API Partly Java Driver
c.   Network Protocol Driver


d. JDBC Net Pure Java Driver

Answer :d

12. What must be the first characters of a database URL?
a. db,





b.  db:
c.   jdbc,





d.  jdbc:

Answer :d
13. Transactions can be described with key properties
a. Atomicity




b.  Consistency
c.   Isolation




d.  All of the mentioned

Answer :d
14. Which of the following methods are needed for loading a database driver in JDBC?
a. registerDriver()



b.  Class.forName()
c.  Both A and B




d.  getConnection()
Answer :c

15.  JDBC stands for:
a. Java Database Component


b.  Java Database Connectivity
c.  Java Database Control



d.  None

Answer :b

16. DriverManager is available in _______ package
a. java.io





b.  java.lang
c.  java.util





d.  java.sql

Answer :d

17. The database system compiles the query when it is
a. Executed




b.  Initialized
c.  Prepared




d.  Invoked

Answer :c
18. How many JDBC driver types does Sun define?
a. One





b.  Two
c.  Three





d.  Four

Answer :d

19. The JDBC-ODBC bridge is
a. Multithreaded




b.  Singlethreaded
c.   Both of the above



d.  none of the above

Answer :a

20. The ……………….. method executes a simple query and returns a single Result Set object
a. executeUpdate()



b.  executeQuery()
c.   execute()




d.  noexecute()

Answer :b

21. Abbreviate the term UDA?
a. Unified Data Access



b.  Universal Data Access
c.  Universal Digital Access


d.  Uniform Data Access

Answer :b

22. The interface ResultSet has a method, getMetaData(), that returns a/an
a. Tuple





b.  Valuewrong
c.  Object correct




d.  Result

Answer :c

23. Which class/interface manages a list of database drivers?
a. Driver





b.  DriverManager
c.   ManageDriver




d.  DriverCon

Answer :b

24. Which of the following is an advantage of using PreparedStatement in Java?
a. memory usage is less



b.  Prevents SQL injection
c.  Works fast with large data


d. Estimates data types

Answer :b

25. Which of the following contains both date and time?
a. java.io.date




b.  java.sql.date 

c.  
java.util.date




d. java.util.dateTime
Answer :d
26. Which of the following is advantage of using JDBC connection pool?
a. Slow performance



b. Using more memory
c.   Using less memory



d. Better performance
Answer :d

27. Which one of the following contains date information?
a. java.sql.TimeStamp



b. java.sql.Time
c.  java.io.Time




d. java.io.TimeStamp
Answer :a

28. Which of the following is method of JDBC batch process?
a.  setBatch()




b. deleteBatch()
c. removeBatch()




d. addBatch()

Answer :d

29. Which of the following is correct about Statement class of JDBC?

a. Statement encapsulates an SQL statement which is passed to the database to be parsed and   

    compiled.

b. Statement encapsulates an SQL statement which is passed to the database to be planned and executed.
 c.  Both of the above.

 d.  none of the above.
Answer :c

30. Which of the following is correct about PreparedStatement?

a. PreparedStatement allows mapping different requests with same prepared statement but different arguments to execute the same execution plan.
b. Prepared statements are more secure because they use bind variables, which can prevent SQL injection attack.
c. Both of the above.
d. None of the above.
Answer :c

31. New drivers can be plugged-in to the JDBC API without changing the client code.

a. true





b. false
Answer :a
32. Which of the following is not a kind of exception that is thrown by JDBC method?

a. SQL Exception



b. DataRounding
c.  DataTruncation



d. SQL Warning

Answer :b
	33.To run a compiled Java program, the machine must have what loaded and running?

a. Java virtual machine



b. Java compiler 
c.  Java bytecode



            d. A Web browser 
Answer :a

34. ___________ is an open DBMS product that runs on UNIX, Linux and Windows.

a. MySQL



            b. JSP/SQL
c.  JDBC/SQL



            d. Sun ACCESS
Answer :a

	35. What is sent to the user via HTTP, invoked using the HTTP protocol on the user's computer,  

       and run on the user's computer as an application?

a.  A Java application


            b. A Java applet

c.  A Java servlet


                        d. A Java Servlet 
Answer : b
36. Which of the following are TCL commands?

          a.  COMMIT and ROLLBACK

            b. UPDATE and TRUNCATE

c.  SELECT and INSERT                                   d. GRANT and REVOKE

Answer :a

37. SQL Views are also known as

a. Simple tables                                                   b. Virtual tables

c.   Complex tables                                                d. Actual Tables

Answer :b

38.  Which of the following statement is true?

. TRUNCATE free the table space while DELETE does not.

a. Both TRUNCATE and DELETE statements free the table's space.

b. Both TRUNCATE and DELETE statement does not free the table's space.

c. DELETE free the table space while TRUNCATE does not.

Answer :a

39. _________ command makes the updates performed by the transaction permanent in the database?

a. ROLLBACK                                                  b. COMMIT

      c.   TRUNCATE                                                  d. DELETE
Answer :b
40. Which of the following is the correct order of a SQL statement?

. SELECT, GROUP BY, WHERE, HAVING      b. SELECT, WHERE, GROUP BY, HAVING

c. SELECT, HAVING, WHERE, GROUP BY     d. SELECT, WHERE, HAVING, GROUP BY

Answer :b

41. Which method Drops all changes made since the previous commit/rollback?
      a. public void rollback()                                      b. public void commit()

c. public void close()                                           d. public Statement createStatement()

Answer : a

42. The ACID properties does not describes the transaction management well.
a. True                                                                  b. False

Answer : b
43. Which Indicates a result set that cannot be updated programmatically in concurrency?
      a. CONCUR_UPDATABLE                               b. CONCUR_READ_ONLY

c. All of the above                                                d. None of the above

Answer :a

44. JDBC RowSet is the wrapper of ResultSet, It holds tabular data like ResultSet but it is easy 
       and flexible to use.
a. True                                                                  b. False

Answer :a

45. Drivers that are JDBC Compliant should normally support scrollable result sets, but they  

      are not required to do so.   - Published on 20 Jul 15
a. True                                                                  b. False

Answer :a
46.  The ResultSet.next method is used to move to the next row of the ResultSet, making it the 
        current row.
a. True                                                                  b. False

Answer :a

47. How many steps are used to connect any java application using JDBC?
a. 5                                                                       b. 4                       
c. 3                                                                       d. 6

Answer :a
48. What is the reason that a java program cannot directly communicate with an ODBC 
      driver?

a. ODBC written in C# language                         b. ODBC written in C language

c. ODBC written in C++ language                       d. None of the above

Answer :b

49.  The JDBC API is what allows access to a data source from a Java middle tier
a. True                                                                  b. False

Answer :a

50. Which result set generally does not show changes to the underlying database that are made while it is open. The membership, order, and column values of rows are typically fixed when the result set is created?

a. TYPE_FORWARD_ONLY                             b. TYPE_SCROLL_INSENSITIVE

c. TYPE_SCROLL_SENSITIVE                         d. ALL MENTIONED ABOVE

Answer :b

51. What is the output when run with a JDBC 4.0 driver if the "demo" database exists and contains an
empty "users" table?

String url = "jdbc:derby:demo";

try (Connection conn = DriverManager.getConnection(url); Statement stmt = conn.createStatement(); ResultSet rs = stmt.executeQuery("select count(*) from users")) {

    System.out.println(rs.getInt(1));

}

a. 0                                                                        
b. 1

c. The code does not compile.                              
d. The code compiles but throws an exception at runtime. 
Answer : d
52. What is the correct order to close database resources?

a. Connection then Statement then ResultSet       b. ResultSet then Statement then Connection

c. Statement then Connection then ResultSet       d. Statement then ResultSet then Connection

Answer :b
53. Which resources have their close() method called when this code runs?

public static void runQuery(Connection conn) throws SQLException {

    try (Statement stmt = conn.createStatement()) {

        ResultSet rs = stmt.executeQuery("select * from clowns");

        rs.next();

    }


}

a. No close() methods are called.                          b. Only Statement

c. Only Statement and Connection                       d. Only Statement and ResultSet
Answer : d

54. When the message "No Suitable Driver" occurs?
a. When the driver is not registered by Class.forname() method

b. When the user name, password and the database does not match

c. When the JDBC database URL passed is not constructed properly

d When the type 4 driver is used

Answer :c
55. What is the disadvantage of Type-4 Native-Protocol Driver?
a. At client side, a separate driver is needed for each database

b. Type-4 driver is entirely written in Java

c. The driver converts JDBC calls into vendor-specific database protocol

d. It does not support to read MySQL data

Answer :a
56. Which of the following is not a JDBC connection isolation levels?
     a. TRANSACTION_NONE                                   
b. TRANSACTION_READ_COMMITTED
c. TRANSACTION_REPEATABLE_READ           
d. TRANSACTION_NONREPEATABLE_READ
Answer :d

57. What is the correct sequence to create a database connection?

i. Import JDBC packages.

ii. Open a connection to the database.

iii. Load and register the JDBC driver.

iv. Execute the statement object and return a query resultset.

v. Create a statement object to perform a query.

vi. Close the resultset and statement objects.

vii. Process the resultset.

viii. Close the connection.

a. i, ii, iii, v, iv, vii, viii, vi                                  b. i, iii, ii, v, iv, vii, vi, viii
c. ii, i, iii, iv, viii, vii, v, vi                                    d. i, iii, ii, iv, v, vi, vii, viii

Answer :b
58. Which of the following is the correct to register a JdbcOdbcDriver?

. jdbc.odbc.JdbcOdbcDriver obj = new sun.jdbc.odbc.JdbcOdbcDriver();

a. odbc.JdbcOdbcDriver obj = new sun.odbc.JdbcOdbcDriver();

b. jdbc.JdbcOdbcDriver obj = new sun.jdbc.JdbcOdbcDriver();

c. jdbc.odbc.JdbcOdbc obj = new sun.jdbc.odbc.JdbcOdbc();

Answer :a
59. Identify the DSN in the following statement:

1. DriverManager.getConnection("jdbc:odbc:oradsn", "scott", "tiger")  
. Jdbc                                                                 b. odbc

c.   scott                                                                 d. oradsn

Answer :d

60. Which of this package is used for analyzing code during run-time?
a.  java.applet                                                        b. java.awt
c.  java.io                                                               d. java.lang.reflect



Answer :d
UNIT – II

1. Which of these package contains classes and interfaces for networking?
a) java.io




b) java.util
c) java.net




d) java.network

Answer : c

2.Which of these is a protocol for breaking and sending packets to an address across a network?
a) TCP/IP




b) DNS
c) Socket




d) Proxy Server
Answer : a

3. How many ports of TCP/IP are reserved for specific protocols?
a) 10





b) 1024
c) 2048




d) 512

Answer : b

4. Which of these is a full form of DNS?
a) Data Network Service


b) Data Name Service
c) Domain Network Service


d) Domain Name Service

Answer : d

5. Which of these class is used to encapsulate IP address and DNS?
a) DatagramPacket



b) URL
c) InetAddress




d) ContentHandler

Answer : c

6.  URL is an acronym for?
a. Uniform Resource Locator


b. Unified Resource Locator

c. Uniform Restore Locator


d. Unified Restore Locator

Answer : a

7.  Which class is used to create servers that listen for either local client or remote client programs 
a. ServerSockets



b. httpServer

c. httpResponse



d. None of the above

Answer : a

8. Which constructor of DatagramSocket class is used to creates a datagram socket and binds it with the given Port Number?
a. DatagramSocket(int port)


b. DatagramSocket(int port, InetAddress address)

c. DatagramSocket()



d. None of the above

Answer :b

9. Which methods are commonly used in ServerSocket class?
a. public OutputStream getOutputStream()
b. public Socket accept()

c. public synchronized void close()

d. None of the above

Answer : b

10. Which classes are used for connection-less socket programming?
a. DatagramSocket



b. DatagramPacket

c. Both A & B




d. None of the above

Answer :c

11. Which method of URL class represents a URL and it has complete set of methods to manipulate URL in Java?

a. java.net.URL



b. java.net.URLConnection

c. Both A & B




d. None of the above

Answer :a

13. Which package provides core functionality?
a. java.net




b. java.rmi

c. java.lang




d. java.math

Answer :c

14. The DatagramSocket and DatagramPacket classes are not used for connection-less socket programming.
a. True





b. False

Answer :b

15. Give the abbrevation of BSD.
a. Berkeley Software Distribution

b. Berkeley Socket Distribution

c. Berkeley System Distribution

d. None of the above

Answer :a

16. The client in socket programming must know which informations?
a. IPaddress of Server



b. Port number

c. Both A & B




d. None of the above

Answer :c

17. The URLConnection class can be used to read and write data to the specified resource referred by the URL
a. True





b. False

Answer :a

18. Datagram is basically an information but there is no guarantee of its content, arrival or arrival time.
a. True





b. False

Answer :a

19.  What does the java.net.InetAddress class represent?
a. Socket




b. IP Address

c. Protocol




d. MAC Address

Answer :b

20. The flush() method of PrintStream class flushes any uncleared buffers in memory
a. True





b. False

Answer : a

21.Which steps occur when establishing a TCP connection between two computers using sockets?
a. The server instantiates a ServerSocket object, denoting which port number communication is to occur on

b. The server invokes the accept() method of the ServerSocket class. This method waits until a client connects to the server on the given port

c. After the server is waiting, a client instantiates a Socket object, specifying the server name and port number to connect to

d. All of the above

Answer : d

22.  In InetAddress class which method returns the host name of the IP Address?
a. public String getHostName()

b. public String getHostAddress()

c. public static InetAddress getLocalHost()
d. None of the above

Answer : a

23. The size of an IP address in IPv6 is _________
a) 4 bytes




b) 128 bits
c) 8 bytes




d) 100 bits
Answer : b
24. The header length of an IPv6 datagram is ___________
a) 10bytes




b) 25bytes
c) 30bytes




d) 40bytes
Answer : d
25. In the IPv6 header, the traffic class field is similar to which field in the IPv4 header?
a) Fragmentation field



b) Fast-switching
c) ToS field




d) Option field
Answer :c
26. IPv6 does not use _________ type of address.
a) broadcast




b) multicast
c) anycast




d) unicast
Answer :a
27. Which among the following features is present in IPv6 but not in IPv4?
a) Fragmentation



b) Header checksum
c) Options




d) Anycast address
Answer :d
28.  The _________ field determines the lifetime of IPv6 datagram
a) Hop limit




b) TTL
c) Next header




d) Type of traffic
Answer :a
29. Dual-stack approach refers to _________
a) implementing Ipv4 with 2 stacks

b) implementing Ipv6 with 2 stacks
c) node has both IPv4 and IPv6 support
d) implementing a MAC address with 2 stacks
Answer :c
30. Suppose two IPv6 nodes want to interoperate using IPv6 datagrams, but they are connected to each other by intervening IPv4 routers. The best solution here is ________
a) Use dual-stack approach


b) Tunneling
c) No solution




d) Replace the system
Answer :b
31. Teredo is an automatic tunneling technique. In each client the obfuscated IPv4 address is represented by bits ______
a) 96 to 127




b) 0 to 63
c) 80 to 95




d) 64 to 79
Answer :a
32. Which of these is not applicable for IP protocol?
a) Connectionless



b) Offer reliable service
c) Offer unreliable service


d) Does not offer error reporting
Answer :b

33.  In classless addressing, there are no classes but addresses are still granted in ______
a) IPs





b) Blocks
c) Codes




d) Sizes
Answer :b

34. n IPv4 Addresses, classful addressing is replaced with ________
a) Classless Addressing


b) Classful Addressing
c) Classful Advertising


d) Classless Advertising
Answer :a

35. First address in a block is used as network address that represents the ________
a) Class Network



b) Entity
c) Organization



d) Codes
Answer :c

36.  In classful addressing, a large part of available addresses are ________
a) Organized




b) Blocked
c) Wasted




d) Communicated
Answer : c

37. Network addresses are a very important concept of ________
a) Routing




b) Mask
c) IP Addressing



d) Classless Addressing
Answer : c

38. Which of this is not a class of IP address?
a) Class E




b) Class C
c) Class D




d) Class F
Answer :d

39. Which of the following transport layer protocols is used to support electronic mail? 
a) SMTP 




b) IP 
c) TCP 




d) UDP 

Answer :c 

40.  In the IPv4 addressing format, the number of networks allowed under Class C addresses is 
a) 2^14 




b) 2^7 
c) 2^21 




d) 2^24 

Answer :c

 41. Packets of the same session may be routed through different paths in:
a) TCP, but not UDP



b) TCP and UDP
c) UDP, but not TCP



d) Neither TCP nor UDP

Answer :b

42.  An organization has a class B network and wishes to form subnets for 64 departments. The subnet mask would be:
a) 255.255.0.0




b) 255.255.64.0
c) 255.255.128.0



d) 255.255.252.0

Answer :d

43. Which one of the following uses UDP as the transport protocol? 
a) HTTP 




b) Telnet 
c) DNS 




d) SMTP 

Answer :c 

44. In classful addressing, the IF address 190.255.254.254 belongs to
a) Class A




b) Class B
c) Class C




d) Class D

Answer :b

45.  In IPv4 header, the field is needed to allow the destination host to determine which datagram a newly arrived fragments belongs to.
a) identification



b) fragment offset
c) time to live




d) header checksum

Answer :a

46. Networks that use different technologies can be connected by using
a) Packets




b) Switches
c) Bridges




d) Routers

Answer :d

47. Which of the following TCP/IP Internet protocol is diskless machine uses to obtain its IP address from a server ?
a) RAP





b) RIP
c) ARP





d) X.25

Answer :c

48.  What does the URL need to access documents?
I. Path name
II. Host name
III. DNS
IV. Retrieval method
V. Server port number
a) I, II, III 




b) I, III, V 

c) I, II, IV 




d) III, IV, V

Answer :b

49. What services does the internet layer provide ?
1. Quality of service
2. Routing
3. Addressing
4. Connection oriented delivery
5. Framing bits
a) 1, 2, 3 




b) 2, 3, 4 

c) 1, 3, 4, 5 




d) 2, 3, 4, 5

Answer :a

50. A proxy server is used as the computer?

a) with external access


b) acting as a backup

c) performing file handling


d) accessing user permissions

Answer :a

51. Which one of the following is the most common internet protocol?

a. HTML




b. NetBEUI

c. TCP/IP




d. IPX/SPX

Answer :c

52. Which of the following IP addresses can be used as (a) loop-back addresses?

a. 0.0.0.0




b. 127.0.0.1

c. 255.255.255.255



d. 0.255.255.255

Answer : b

53.  The term IANA stands for?

a. Internet Assigned Numbers Authority
b. Internal Assigned Numbers Authority

c. Internet Associative Numbers Authoritative d. Internal Associative Numbers Authority

Answer :a

54. How many versions available of IP?

a. 6 version




b. 4 version

c. 2 version




d. 1 version

Answer :c

55. A client of the DNS (Domain Name System) application is called _____.

a. DNS server




b. DNS Name

c. DNS resolver



d. DNS inquirer

Answer :c

56. Which of the following devices is not a networking device?

a. Hub





b. Switch

c. Bridge




d. None of the these

Answer :d

57. A proxy server is used for which of the following?
a. To provide security against unauthorized users

b. To process client requests for Web pages

c. To process client requests for database access

d. To provide TCP/IP

Answer :a
58. A ____ is a software application for retrieving, presenting, and traversing information resources on the World Wide Web.

a) HTTP




b) E-mail

c) Web browser



d) Search Engine

Answer :c

59. ________ is the basic communication language or protocol of the internet.

a) TCP/IP




b) TCDP/IEP

c) TCMP/IKP



d) TCTP/ITP

Ans: a

60.  Datagram networks mainly refers to _________
a) Connection oriented networks

b) Connection less networks
c) Telephone networks


d) Internetwork


Answer: b

UNIT – III

1. 1. Which of these package is used for graphical user interface?
a) java.applet




b) java.awt
c) java.awt.image



d) java.io

Answer: b

2. Which of this package is used for analyzing code during run-time?
a) java.applet




b) java.awt
c) java.io




d) java.lang.reflect

Answer: d

3.  Which of this package is used for handling security related issues in a program?
a) java.security



b) java.lang.security
c) java.awt.image



d) java.io.security
Answer: a

4.  Which of these class allows us to get real time data about private and protected member of a class?
a) java.io




b) GetInformation
c) ReflectPermission



d) MembersPermission
Answer: c

5. Which of the following is an incorrect statement about packages?
a) Package defines a namespace in which classes are stored
b) A package can contain other package within it
c) Java uses file system directories to store packages
d) A package can be renamed without renaming the directory in which the classes are stored
Answer: d

6. Which of the following package stores all the standard java classes?
a) lang





b) java
c) util





d) java.packages
Answer: b

7. Which of these package is used for text formatting in Java programming language?
a) java.text




b) java.awt
c) java.awt.text



d) java.io

Answer: a

8. Which of this class can be used to format dates and times?
a) Date





b) SimpleDate
c) DateFormat




d) textFormat
Answer: c

9. Which of these method returns an instance of DateFormat that can format time information?
a) getTime()




b) getTimeInstance()
c) getTimeDateinstance()


d) getDateFormatinstance()
Answer: b

10.  Which of these class allows us to define our own formatting pattern for dates and time?
a) DefinedDateFormat


b) SimpleDateFormat
c) ComplexDateFormat


d) UsersDateFormat

Answer: b

11.  What is Remote method invocation (RMI)?
a) RMI allows us to invoke a method of java object that executes on another machine
b) RMI allows us to invoke a method of java object that executes on another Thread in multithreaded programming
c) RMI allows us to invoke a method of java object that executes parallely in same machine
d) None of the mentioned
Answer: a

12. Which of these package is used for remote method invocation?
a) java.applet




b) java.rmi
c) java.lang.rmi



d) java.lang.reflect
Answer: b

13. Which of these methods are member of Remote class?
a) checkIP()




b) addLocation()
c) AddServer()



d) None of the mentioned
Answer: d

14. Which of these Exceptions is thrown by remote method?
a) RemoteException



b) InputOutputException
c) RemoteAccessException


d) RemoteInputOutputException
Answer: a

15. Which of these class is used for creating a client for a server-client operations?
a) serverClientjava



b) Client.java
c) AddClient.java



d) ServerClient.java

Answer : c
16. Which of these formatting strings of SimpleDateFormat class is used to print AM or PM in time?
a) a





b) b
c) c





d) d
Answer: a

17. Which of these formatting strings of SimpleDateFormat class is used to print week of the year?
a) w





b) W
c) s





d) S
Answer: a

18. . Which of the following is not a class of java.util.regex?
a) Pattern class



b) matcher class
c) PatternSyntaxException


d) Regex class
Answer: d

19.  What is the significance of Matcher class for regular expression in java?
a) interpretes pattern in the string
b) Performs match in the string
c) interpreted both pattern and performs match operations in the string
d) None of the mentioned.
Answer: c

20. Object of which class is used to compile regular expression?
a) Pattern class



b) Matcher class
c) PatternSyntaxException


d) None of the mentioned
Answer: a

21. Which capturing group can represent the entire expression?
a) group *




b) group 0
c) group * or group 0



d) None of the mentioned
Answer: b

22. GroupCount reports a total number of Capturing groups.

a) True





b) False
Answer: a

23.  Which of the following matches nonword character using regular expression in java?
a) \w





b) \W
c) \s





d) \S
Answer: b

24. Which of the following matches end of the string using regular expression in java?
a) \z





b) \\
c) \*





d) \Z
Answer: a

25. What does public int end(int group) return?
a) offset from last character of the subsequent group
b) offset from first character of the subsequent group
c) offset from last character matched
d) offset from first character matched
Answer: a

26. What does public String replaceAll(string replace) do?
a) Replace all characters that matches pattern with a replacement string
b) Replace first subsequence that matches pattern with a replacement string
c) Replace all other than first subsequence of that matches pattern with a replacement string
d) Replace every subsequence of the input sequence that matches pattern with a replacement string
Answer: d

27. What does public int start() return?
a) returns start index of the input string
b) returns start index of the current match
c) returns start index of the previous match
d) none of the mentioned
Answer: c

28. Which compression provide some loss of quality?

(a) Loss less




(b) Lossy
(c) Cel based




(d) Object based

Answer : b

29. How many step process for creating a 3D animation ?

(a) 1





(b) 2
(c) 3





(d) 4

Answer : c

30. Which device is used to grasp a virtual object?

(a) Space ball




(b) Data glove
(c) Digitizer




(d) Touch panels

Answer : b

31. Which of these packages contain classes and interfaces used for input & output operations of a program?
a) java.util




b) java.lang
c) java.io




d) all of the mentioned
Answer: c

32. Which of these class is not a member class of java.io package?
a) String




b) StringReader
c) Writer




d) File
Answer: a

33. Which of these interface is not a member of java.io package?
a) DataInput




b) ObjectInput
c) ObjectFilter




d) FileFilter
Answer: c

34.  Which of these class is not related to input and output stream in terms of functioning?
a) File





b) Writer
c) InputStream




d) Reader
Answer: a

35. Which of these is specified by a File object?
a) a file in disk




b) directory path
c) directory in disk



d) none of the mentioned
Answer: c

36.  Which class can be used to read data line by line by readLine() method?
a) BufferedReader



b) InputStreamReader
c) DataInputStream



d) None of the above

Answer : a
37. These commonly used methods of
1) public abstract int read()throws IOException
2) public int available()throws IOException
3) public void close()throws IOException

a) OutputStream class



b) InputStream class
c) Input/OutputStream class


d) None of the above

Answer: b
38. Which package includes StringTokenizer which tokenizes a string into independent words?
a) java.awt




b) java.applet
c) java.util




d) java.lang

Answer: c

39. Which of these methods are member of Remote class?
a) checkIP()




b) addLocation()
c) AddServer()



d) None of the mentioned
Answer: d

40. What are the components of a marker interface?
a) Fields and methods



b) No fields, only methods
c) Fields, no methods



d) No fields, No methods
Answer: d

41. What is not the advantage of Reflection?
a) Construct an object for a class at runtime
b) Examine a class’s field and method at runtime
c) Examine a class’s field at compile time
d) Examine an object’s class at runtime
Answer: c

42. How private method can be called using reflection?
a) getDeclaredFields



b) getDeclaredMethods
c) getMethods




d) getFields
Answer: b

43. How private field can be called using reflection?
a) getDeclaredFields



b) getDeclaredMethods
c) getMethods




d) getFields
Answer: a

44.  What is used to get class name in reflection?
a) getClass().getName()


b) getClass().getFields()
c) getClass().getDeclaredFields()

d) new getClass()
Answer: a

45. How method can be invoked on unknown object?
a) obj.getClass().getDeclaredMethod()
b) obj.getClass().getDeclaredField()
c) obj.getClass().getMethod()


d) obj.getClass().getObject()
Answer: c

46. How to get the class object of associated class using Reflection?
a) Class.forName(“className”)

b) Class.name(“className”)
c) className.getClass()


d) className.getClassName()
Answer: a

47. What does Class.forName(“myreflection.Foo”).getInstance() return?
a) An array of Foo objects


b) Calls the getInstance() method of Foo class
c) class object of Foo 



d) Foo object
Answer: d

48. The Graphics class is the_____for all graphics contexts.

a) Main class




b) Abstract super class 

c) Super class




d) Object class

Answer: b

49.Which of these packages contains all the classes and methods required for even handling in Java?
a) java.applet




b) java.awt
c) java.event




d) java.awt.event
Answer: d

50. What is an event in delegation event model used by Java programming language?
a) An event is an object that describes a state change in a source
b) An event is an object that describes a state change in processing
c) An event is an object that describes any change by the user and system
d) An event is a class used for defining object, to create events
Answer: a

51. What is a listener in context to event handling?
a) A listener is a variable that is notified when an event occurs
b) A listener is a object that is notified when an event occurs
c) A listener is a method that is notified when an event occurs
d) None of the mentioned
Answer: b

52. Which of these can be used to differentiate two or more methods having the same name?
a) Parameters data type


b) Number of parameters
c) Return type of method


d) All of the mentioned
Answer: d

53. Which of these exceptions will be thrown if we declare an array with negative size?
a) IllegalArrayException


b) IllegalArraySizeExeption
c) NegativeArrayException


d) NegativeArraySizeExeption
Answer: d

54. Which of these statement is incorrect?
a) Two or more methods with same name can be differentiated on the basis of their parameters data type
b) Two or more method having same name can be differentiated on basis of number of parameters
c) Any already defined method in java library can be defined again in the program with different data type of parameters
d) If a method is returning a value the calling statement must have a variable to store that value
Answer: d

55. Which of these packages contain all the Java’s built in exceptions?
a) java.io




b) java.util
c) java.lang




d) java.net
Answer: c

56. Which of these methods deletes all the elements from invoking collection?
a) clear()




b) reset()
c) delete()




d) refresh()
Answer: a

57. Which of these access specifiers can be used for a class so that its members can be accessed by a different class in the different package?
a) Public




b) Protected
c) Private




d) No Modifier
Answer: a

58.  Which of the following is the correct way of importing an entire package ‘pkg’?
a) import pkg.




b) Import pkg.

c) import pkg.*



d) Import pkg.*
Answer: c

59. The name of a package is the name of the _____________ in Java.

a) folder





b) All parent folders separated by DOT symbols

c) All parent packages separated by DOT symbols

d) All the above

Answer :d

60. What is the maximum number of levels or depth up to which sub-packages can be defined in Java?

a) 8





b) 16

c) 32





d) There is no limit.
Answer :d.
UNIT – IV
1. Which of the following is not an Enterprise Beans type?
a) Doubleton




b) Singleton
c) Stateful




d) Stateless
Answer: a

2.  Which of the following is not true about Java beans?
a) Implements java.io.Serializable interface
b) Extends java.io.Serializable class
c) Provides no argument constructor

d) Provides setter and getter methods for its properties

Answer: b

3. Which file separator should be used by MANIFEST file?
a) /





b) \
c) –





d) //

Answer: a

4. Which of the following is correct error when loading JAR file with duplicate name?
a) java.io.NullPointerException

b) java.lang.ClassNotFound
c) java.lang.ClassFormatError

d) java.lang.DuplicateClassError
Answer: c

5. Java Beans are extremely secured?
a) True





b) False
Answer: b

6. Which of the following is not a feature of Beans?
a) Introspection



b) Events
c) Persistence




d) Serialization

Answer: d

7. What is the attribute of java bean to specify scope of bean to have single instance per Spring IOC?
a) prototype




b) singleton
c) request




d) session

Answer: b

8.Which attribute is used to specify initialization method?
a) init





b) init-method
c) initialization



d) initialization-method
Answer: b

9. Which attribute is used to specify destroy method?
a) destroy




b) destroy-method
c) destruction




d) destruction-method
Answer: b

10. How to specify autowiring by name?
a) @Qualifier




b) @Type
c) @Constructor



d) @Name
Answer: a

11. How to copy the file from one location to other?
a) Files.copy(source, target)


b) Path.copy(source, target)
c) source.copy(target)



d) Files.createCopy(target)
Answer: a

12. How can we get the size of specified file?
a) capacity(path)



b) size(path)
c) length(path)




d) Path.size()
Answer: b

13. Which jar provides FileUtils which contains methods for file operations?
a) file





b) apache commons
c) file commons



d) dir

Answer: b

14. How can we filter lines based on content?
a) lines.filter()




b) filter(lines)
c) lines.contains(filter)


d) lines.select()
Answer: a

15. How can we create a symbolic link to file?
a) createLink()




b) createSymLink()
c) createSymbolicLink()


d) createTempLink()
Answer: c

16. Which of these package is used for all the text related modifications?
a) java.text




b) java.awt
c) java.lang.text



d) java.text.modify
Answer: a

17. What is the length of the application box made in the following Java program?

1.     import java.awt.*;
2.     import java.applet.*;
3.     public class myapplet extends Applet 

4.     {
5.         Graphic g;
6.         g.drawString("A Simple Applet",20,20);    

7.     }
a) 20





b) Default value
c) Compilation Error



d) Runtime Error
Answer: c

18. Which services are provided to EJB components by the EJB container?
a. Transaction support



b. Persistence support

c. Naming support



d. All mentioned above

Answer: d

19. Which case of a session bean obtains the UserTransaction object via the EJB Context using the getUserTransaction() method in EJB transaction management?
a. Bean-managed transactions


b. Container-managed transactions

c. Both A & B




d. None of the above

Answer: a

20.  EJB QL is a Query Language provided for navigation across a network of enterprise beans and dependent objects defined by means of container managed persistence.
a. True





b. False

Answer: True

21. A message driven bean is like statefull session bean that encapsulates the business logic and doesn't maintain state.
a. True





b. False

Answer : b

22. Abbreviate the term JMS ? 

a. Java Message Service


b. Java Monitor Service 

c. Java Message Session


d. Java Monitor Session

Answer: a

23. JMS is mainly used to send and receive message from one application to another.

a. True





b. False

Answer : a

24. Which session bean maintain their state between client invocations but are not required to maintain their state across server crashes or shutdowns?

a. Stateful Session Bean


b. Stateless Session Bean 

c. Singleton Session Bean


d. None of the above

Answer: c

25. JMS is mainly used to send and receive message from one application to another.

a. True





b. False

Answer : a

26. EJB is like COM, Abbreviate the term COM?

a. Component Object Model


b. Component Oriented Model

c. Common Object Model


d. Common Oriented Model

Answer: a

27. Where are the following four methods commonly used?

1) public void add(Component c)


2) public void setSize(int width,int height)
3) public void setLayout(LayoutManager m)
4) public void setVisible(boolean)
a. Graphics class



b. Component class

c. Both A & B




d. None of the above

Answer : b

28. Implement the Listener interface and overrides its methods is required to perform in event handling.
a. True





b. False

Answer : b

29. Which is the container that doesn't contain title bar and MenuBars but it can have other components like button, textfield etc?

a. Window




b. Frame 

c. Panel




d. Container

Answer: c

30. These two ways are used to create a Frame
By creating the object of Frame class (association)
By extending Frame class (inheritance)

a. True





b. False

Answer : a

31. Give the abbreviation of AWT?
a. Applet Windowing Toolkit


b. Abstract Windowing Toolkit

c. Absolute Windowing Toolkit

d. None of the above

Answer : b

32. Which method is used to set the graphics current color to the specified color in the graphics class?
a. public abstract void setFont(Font font)

b. public abstract void setColor(Color c)

c. public abstract void drawString(String str, int x, int y)

d. None of the above
Answer: b
33.  The Java Foundation Classes (JFC) is a set of GUI components which simplify the development of desktop applications.
a. True





b. False

Answer : a

34. In Graphics class which method is used to draws a rectangle with the specified width and height?
a. public void drawRect(int x, int y, int width, int height)

b. public abstract void fillRect(int x, int y, int width, int height)

c. public abstract void drawLine(int x1, int y1, int x2, int y2)

d. public abstract void drawOval(int x, int y, int width, int height)

Answer : a

35. Which object can be constructed to show any number of choices in the visible window?
a. Labels




b. Choice

c. List





d. Checkbox

Answer : c

36. Which is used to store data and partial results, as well as to perform dynamic linking, return values for methods, and dispatch exceptions?
a. Window




b. Panel

c. Frame




d. Container

Answer : c

37. Which of the following align arguments is not available in Java to be used in SwingConstants interface?

a. Left





b. Right

c. Middle




d. Trailing

Answer : c

38. Which package is used for importing swing components?

a. javax.swing




b. java.swing

c. java.awt.




d. All of the mentioned

Answer : a

39. Which of these methods can be used to know which key is pressed?
a. getActionEvent()



b. getActionKey()
c. getModifier()



d. getKey()
Answer : c

40. Suppose you are developing a Java Swing application and want to toggle between various views of the design area. Which of the views given below are present for the users to toggle?
 a. Design View



b. Requirements View
c. Source View



d. Management View

Answer : b

41. Which of these functions is called to display the output of an applet?
a) display()




b) paint()
c) displayApplet()



d) PrintApplet()
Answer: b
42. Which of these methods can be used to output a string in an applet?
a) display()




b) print()
c) drawString()



d) transient()
Answer: c
43. Which of these modifiers can be used for a variable so that it can be accessed from any thread or parts of a program?
a) transient




b) volatile
c) global




d) No modifier is needed
Answer: b
44. Which of these operators can be used to get run time information about an object?
a) getInfo




b) Info
c) instanceof




d) getinfoof
Answer: c
45. What is an event in delegation event model used by Java programming language?
a) An event is an object that describes a state change in a source
b) An event is an object that describes a state change in processing
c) An event is an object that describes any change by the user and system
d) An event is a class used for defining object, to create events
Answer: a

46. Which of these methods are used to register a keyboard event listener?
a) KeyListener()



b) addKistener()
c) addKeyListener()



d) eventKeyboardListener()
Answer: c
47. Which of these methods are used to register a mouse motion listener?
a) addMouse()




b) addMouseListener()
c) addMouseMotionListner()


d) eventMouseMotionListener()

Answer: c
48. What is a listener in context to event handling?
a) A listener is a variable that is notified when an event occurs
b) A listener is a object that is notified when an event occurs
c) A listener is a method that is notified when an event occurs
d) None of the mentioned
Answer: b
49. Which of these methods can be used to determine the type of event?
a) getID()




b) getSource()
c) getEvent()




d) getEventObject()
Answer: a

50. Which of these class is super class of all the events?
a) EventObject



b) EventClass
c) ActionEvent



d) ItemEvent
Answer: a
51. Which of these events will be notified if scroll bar is manipulated?
a) ActionEvent



b) ComponentEvent
c) AdjustmentEvent



d) WindowEvent
Answer: c

52. Which of these events will be generated if we close an applet’s window?
a) ActionEvent



b) ComponentEvent
c) AdjustmentEvent



d) WindowEvent
Answer: d

53. The subclass of a java.awt.Container class is known as a container.
a) TRUE




b) FALSE
c) Can be true or false



d) Can not say

Answer : a

54. A ___________ dictates the style of arranging the components in a container.
a) border layout



b) grid layout
c) panel




d) layout manager

Answer : d

55. Which method used to place some text in the text field?
a) getText(String str)



b) setText(String str)
c) putText(String str)



d) None of the above

Answer : b

56. Which method used to change the foreground (text) color of components like text field?
a) setBackground(Color clr) 


b) setForeground(Color clr)
c) setColor(Color clr)



d) setEditable(boolean state)

Answer : b


57. getLabel() method used to retrieve the label of a button.
a) Yes





b) No
c) Can be yes or no



d) Cannot say

Answer : a

58. Which class can be used to represent the Checkbox with a textual label that can appear in a menu?

a) MenuBar




b) MenuItem

c) CheckboxMenuItem


d) Menu

Answer: c

59. In which places can put the event handling code
a) Same class




b) Other class
c) Annonymous class



d) All mentioned above

Answer: d

60. How can we delete all files in a directory?
a) Files.delete(path)



b) Files.deleteDir()
c) Directory.delete()



d) Directory.delete(path)
Answer: a
UNIT – V
1. How constructor can be used for a servlet?
a) Initialization



b) Constructor function
c) Initialization and Constructor function
d) Setup() method
Answer: c

2. Can servlet class declare constructor with ServletConfig object as an argument?
a) True





b) False
Answer: b

3. What is the difference between servlets and applets?
i. Servlets execute on Server; Applets execute on browser
ii. Servlets have no GUI; Applet has GUI
iii. Servlets creates static web pages; Applets creates dynamic web pages
iv. Servlets can handle only a single request; Applet can handle multiple requests
a) i, ii, iii are correct



b) i, ii are correct
c) i, iii are correct



d) i, ii, iii, iv are correct
Answer: b

4. Which of the following code is used to get an attribute in a HTTP Session object in servlets?
a) session.getAttribute(String name)

b) session.alterAttribute(String name)
c) session.updateAttribute(String name)
d) session.setAttribute(String name)
Answer: a

5. Which method is used to get three-letter abbreviation for locale’s country in servlets?
a) Request.getISO3Country()


b) Locale.getISO3Country()
c) Response.getISO3Country()

d) Local.retrieveISO3Country()
Answer: a

6. Which of the following code retrieves the body of the request as binary data?
a) DataInputStream data = new InputStream()
b) DataInputStream data = response.getInputStream()
c) DataInputStream data = request.getInputStream()
d) DataInputStream data = request.fetchInputStream()
Answer: c

7. When destroy() method of a filter is called?
a) The destroy() method is called only once at the end of the life cycle of a filter
b) The destroy() method is called after the filter has executed doFilter method
c) The destroy() method is called only once at the begining of the life cycle of a filter
d) The destroyer() method is called after the filter has executed
Answer: a

8. Which of the following is true about servlets?
a) Servlets execute within the address space of web server
b) Servlets are platform-independent because they are written in java
c) Servlets can use the full functionality of the Java class libraries
d) Servlets execute within the address space of web server, platform independent and uses the functionality of java class libraries
Answer: d

9. How is the dynamic interception of requests and responses to transform the information done?
a) servlet container



b) servlet config
c) servlet context



d) servlet filter
Answer: d

10. Which are the session tracking techniques?
i. URL rewriting
ii. Using session object
iii.Using response object
iv. Using hidden fields
v. Using cookies
vi. Using servlet object
a) i, ii, iii, vi




b) i, ii, iv, v
c) i, vi, iii, v




d) i, ii, iii, v
Answer: b

11. Which of the following is not a web server?
a) Apache tomcat



b) BlueGriffon
c) Jetty





d) Tornado
Answer: b

12. Tomcat is an open source web server that provides a servlet container allowing you to run Java code.
a) True





b) False
Answer: a

13. Which of the following interface is not supported by LightTPD?
a) FastCGI




b) SCGI
c) GCGI




d) CGI
Answer: c

14.Which of the following is not a prepackaged server stack?
a) WAMP




b) XAAMP
c) MAMP




d) NAMP
Answer: b

15. Which of the following is not a channel of mozilla?
a) Firefox




b) Firefox alpha
c) Firefox Beta



d) Firefox Aurora
Answer: b

16. Which of the following are automatically loaded and operates as a part of browser?
a) Add-ons




b) Plug-ins
c) Utilities




d) Widgets
Answer: b

17. Which of the following allows user to view a webpage?
a) Operating System



b) Website
c) Interpreter




d) Internet Browser
Answer: d

18. Which of the following is used for session migration?
a) Persisting the session in database

b) URL rewriting
c) Create new database connection

d) Kill session from multiple sessions
Answer: a

19. What is DOM?
a) Hierarchy of objects in ASP.NET
b) Application programming interface
c) Convention for representing and interacting with objects in html documents
d) Language dependent application programming
Answer: c

20. Which of the below is not a session tracking method?
a) URL rewriting



b) History
c) Cookies




d) SSL sessions
Answer: b

21. Which of the following is stored at client side?
a) URL rewriting



b) Hidden form fields
c) SSL sessions



d) Cookies
Answer: d

22. Which of the following leads to high network traffic?
a) URL rewriting



b) Hidden form fields
c) SSL sessions



d) Cookies
Answer: a

23. Which of the following is not true about session?
a) All users connect to the same session
b) All users have same session variable
c) Default timeout value for session variable is 20 minutes
d) New session cannot be created for a new user
Answer: c

24. SessionIDs are stored in cookies.
a) True





b) False
Answer: a

25.  What is the maximum size of cookie?
a) 4 KB




b) 4 MB
c) 4 bytes




d) 40 KB
Answer: a

26. How can we invalidate a session?
a) session.discontinue()


b) session.invalidate()
c) session.disconnect()


d) session.falsify()
Answer: b

27. Which method creates unique fields in the HTML which are not shown to the user?
a) User authentication



b) URL writing
c) HTML Hidden field


d) HTML invisible field
Answer: c

28. Which object is used by spring for authentication?
a) ContextHolder



b) SecurityHolder
c) AnonymousHolder



d) SecurityContextHolder
Answer: d

29. Which object of HttpSession can be used to view and manipulate information about a session?
a. session identifier



b. creation time

c. last accessed time



d. All mentioned above

Answer:d

30. Using mail API we cannot send mail from a servlet.
a. True





b. False

Answer :b

31. Which class provides stream to read binary data such as image etc. from the request object?
a. ServltInputStream



b. ServletOutputStream

c. Both A & B




d. None of the above

Answer : a

32. The sendRedirect() method of HttpServletResponse interface can be used to redirect response to another resource, it may be servlet, jsp or html file.
a. True





b. False

Answer:a 






33. Which of these ways used to communicate from an applet to servlet?
a. RMI Communication


b. HTTP Communication

c. Socket Communication


d. All mentioned above

Answer:d

34. Which methods are used to bind the objects on HttpSession instance and get the objects?
a. setAttribute




b. getAttribute

c. Both A & B




d. None of the above

Answer:c

35. Which type of ServletEngine is a server that includes built-in support for servlets?
a. Add-on ServletEngine


b. Embedded ServletEngine

c. Standalone ServletEngine


d. None of the above

Answer:c

36. What type of servlets use these methods doGet(), doPost(),doHead, doDelete(), doTrace()?
a. Genereic Servlets



b. HttpServlets

c. All of the above



d. None of the above

Answer :b

37.  Which cookie it is valid for single session only and it is removed each time when the user closes the browser?
a. Persistent cookie



b. Non-persistent cookie

c. All the above



d. None of the above

Answer :b

38. Web server is used for loading the init() method of servlet.
a. True





b. False

Answer :a

39. Servlets handle multiple simultaneous requests by using threads.
a. True





b. False

Answer :a

40. Which method is used to send the same request and response objects to another servlet in RequestDispacher ?
a. forward()




b. sendRedirect()

c. Both A & B




d. None of the above

Answer :a

41. Which packages represent interfaces and classes for servlet API?
a. javax.servlet



b. javax.servlet.http

c. Both A & B




d. None of the above

Answer :c

42. Which class can handle any type of request so that it is protocol-independent?
a. GenericServlet



b. HttpServlet

c. Both A & B




d. None of the above

Answer :a

43. Which HTTP Request method is non-idempotent?
a. GET





b. POST

c. BOTH A & B



d. None of the above

Answer :b

44. Which object is created by the web container at time of deploying the project?
a. ServletConfig



b. ServletContext

c. Both A & B




d. None of the above

Answer :b

45. What is the lifecycle of a servlet?
a. Servlet class is loaded


b. Servlet instance is created

c. init,Service,destroy method is invoked
d. All mentioned above

Answer :d

46.  Which method in session tracking is used in a bit of information that is sent by a web server to a browser and which can later be read back from that browser?
a. HttpSession




b. URL rewriting

c. Cookies




d. Hidden form fields

Answer :c

47. In HTTP Request what asks for the loopback of the request message, for testing or for troubleshooting?
a. PUT





b. OPTIONS

c. DELETE




d. TRACE

Answer :d

48. Which one of the following scopes does the attribute in servlet is an object that can be set, get or removed?
a. session scope



b. request scope

c. application scope



d. All mentioned above

Answer :d

49. Which are the examples of Application Server?
a. Apache




b. JBoss

c. Weblogic




d. Both B & C

Answer : d

50.  How many techniques are used in Session Tracking?
a. 4





b. 3

c. 2





d. 5

Answer :a

51. In HTTP Request method Get request is secured because data is exposed in URL bar
a. True





b. False

Answer :b

52. In the following statements identify the disadvantages of CGI?
a. If number of clients increases, it takes more time for sending response

b. For each request, it starts a process and Web server is limited to start processes

c. It uses platform dependent language e.g. C, C++, perl

d. All mentioned above

Answer:d

53. Servlet technology is used to create web application
a. True





b. False

Answer : a

54. Which of these is a wrapper around everything associated with a reply from an http server?
a) HTTP




b) HttpResponse
c) HttpRequest



d) httpserver
Answer: b

55. Which of these methods is used to know when was the URL last modified?
a) LastModified()



b) getLastModified()
c) GetLastModified()



d) getlastModified()()
Answer: b

56. Which of these methods is used to know the type of content used in the URL?
a) ContentType()



b) contentType()
c) getContentType()



d) GetContentType()
Answer: c

57. Which of these data member of HttpResponse class is used to store the response from an http server?
a) status




b) address
c) statusResponse



d) statusCode
Answer: d

58. Which of these functions is not a part of the servlet lifecycle
a) Checking if an instance of servlet exists or not
b) Invoking the service method of the servlet
c) Shutting down the servlet
d) Pausing the servlet for a given period of time.
Answer: d

59. Which of the following application servers do not provide built in support for servlets?
a) Tomcat server



b) Glassfish
c) JBoss




d) None of the mentioned
Answer: d

60. State whether the following statements about the POST method are True or False.
i) In the POST method, data is submitted inside the body of the HTTP request.
ii) Here the data is visible on the URL and less secure.
a) i-True, ii-True



b) i-True, ii-False
c) i-False, ii-True



d) i-False, ii-False

Answer  : b
